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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-5 0
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P3-5
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13:25 200 130.0 5 FiHfe13:25 (KREERE)
14:30 200 130.0 5 FiHAe14:30 (KRAERE)
15:45 200 130.0 5 FiHf@15:45 (KRR
Eit| 2000.0 (10%) 1300. 0 3 UHKEC: 2000.0, PH: 6.5

unusual large postFgEt from yesterday (527), set to 390.0 ml.
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P3-5
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23t 2200.0 (117%) 1320.0 3 IFKEC: 1900.0, PH: 6.5

large discrepency for begining water status (283:156.0), set to 258.0 ml.
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large discrepency for begining water status (450:204.0), set to 360.0 ml.
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